n"1% 1"7 'o1n X,2° 2°N0D .7"'02

— "7 M0 TV AWK YW n9OmnR Y 13030 PR 9299

According to »''% we grant them from the beginning of the first hour
until the end of the fifth hour

OVERVIEW

The X3 explains how the process of ' will work now that we assume that the
0>7Y may err in their perception of time. In the case where one 7V said the incident
took place '12 and the other 33, we can be 2 these 07y, only if the 2 i 07y
claim that the initial 27y were with them the entire time, including the time
allotted for a possible error. According to n"7 who maintains (in the view of X27)
that people err ywn "onm NMYw '3, then the 2™ must testify that the ann were
with the oon°m from 77 910 7V 'X 7vw nonn. In that case even if each 7v erred the
maximum possible (which is 17wn qon Myw '2) they are still *ama. Our MdOIN
challenges this assumption and argues that perhaps even in this case there should
be no anm.

L 2
nooIn asks:
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The X''299 asks; why do we not ascribe the error to the a3 -
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That when the 2% testified ‘you were with us until the end of the fifth hour’,
let us assume that the 02> erred and they referred to the fourth hour as the

fifth hour. In reality the 017 07y are claiming that the o°»m»i 0°7y were with them until the
end of the fourth hour -
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And the incident actually occurred on the fifth hour and therefore the initial 27y

! am is the process in which the testifying 0°7v are totally repudiated and receive the punishment they intended to
mete out to the defendant. That is when a second group of o°7v (hereinafter referred to as the '0'n°1') testify that the
initial 0>7v (the o°»17) could not have seen the incident at the alleged time and place, for at that very precise time the
o mmn were together with the o in a different place altogether.

? The one that said 'a could not have meant before X [since people do not mistake between night (before ') and day
(from 'R onwards)]. The 7¥ that said '3, could not have meant before 'R or after ' 910, because no one errs more than
11w on Myw 2. Therefore when the 2°n°th claim an»n 11y from 7 910 79 'R 7w, they include all possible errors the
o1 can make.

3 27y can certainly err in one hour. See “Thinking it over’ # 2 & 3.

* mooin differentiates between accepting the testimony of the 0*7y (where we say that two 2°79 do not err) and
protecting the a7y from 777777 (where we claim that both o7y erred). See 7,3 NIX 3 71¥ O7772R N372.
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will not be 21 by the testimony of the o»°1a71 0°7y, because it is possible that the one who
said '32 meant '72 and the 2 »°m claim an> 7 1Y only until '7 (if we ascribe the error to the o
[as well]).
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And granted that the testimony will be contradictory for the 7v that claims the

incident happened in the second hour could not have erred until the fifth hour and
therefore he is contradicting the 7¥ who says w>wa (who we interpret to mean '173) and their M7y
will be discarded, but -
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Nevertheless the initial 2>7v will not be 2°211%; we will not implement the rule of an Wy
YIRS MWy ont w12, They will receive no punishment.’

N1B0IN answers:
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And the ''1 answers; that we do not ascribe at all an error for two witnesses

as I have explained previously; we ascribe an error only to one 7v, not both. Here we
would have to assume that both 22> 079 erred when they said '71 710 7v, for they meant 70 7¥
"T1.

SUMMARY
We do not assume that both 2°7¥ err; only one.

THINKING IT OVER

1. When one says 22 and the other '32, why is na»p 1m7v?° Let us assume that the
incident happened after A fyw M0 (but within 7Wwn 07 NMyw °nw of '3 AYY), and
therefore the 7v who claims 22 is disqualified because his error is more than '
ywn “on myw!”

> The rule of ot TWK3 Y2 oWy applies only to T 7Y not to PRI D7V

6 Perhaps Mmoo intends to emphasize (with the word 992) that even in this case where the 2 made the same
error, 77 instead of '7 (not as in the previous N201N where the error of both 2>7v was in different directions; one later
the other earlier), nevertheless we never ascribe an error to both 2°7v (77 7X). Alternately; even in the case of the
ot where they were not intent on testifying to any specific act (as opposed to the o»mn who intended to testify
what they saw), nevertheless two 07y do not err (2"nn).

7 On this Tny in 9% 7"7. The reason the D»°t must testify an»n wny from 'X 7w until 77 (even though both v
cannot err as NN claims), because we are not sure if the error is by the 7 of 'a (then '7 7¥ would be sufficient) or
by the 7¥ of '3 (which requires 7 710 7¥)

¥ Just as by nn1 we assume a maximum error, the same should apply to their initial testimony.

? See footnote # 4.
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2. mpoin asked that perhaps the 1n°m erred and they meant '7 m10. The o°%°1 claim
that the o°n1n were with them for five hours. The errors that are allowed are errors
as to what time it 1s, but where do we find an error as to the duration of an

incident?!'°

3. Why did not 9010 ask that perhaps the 2 erred \wn 707 NMYWw 22 and they
meant '3 7102 and the incident happened 722"

10 See "w1mn and wIn K.
' See (7rxm) R"wAn and AnnT K.
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